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Speed of free fall
A particle of mass mass m falling at speed v from h in gravity of strength g
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Period of an hamronic oscilator

Period T of a mass m attached to an ideal linear spring of constant k suspended in gravity of strength g
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The Trinity Test

Geoffrey Taylor was able to determine how much energy was released for the first atomic bomb explosion just by looking
at the photograph doing dimmensional analysis: the time after detonation t, the radius of the explosion R and the density of
airp
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